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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.

(2) Statistical tables and graph paper will be
given on request.

(3) Marks are indicated on right side.

1 (a) Prove that : 15
2
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2 2
(b) Explain the meaning of interpolation and state its uses. 5
OR
1 (@) From the following data estimate the number of 10
students getting less than 35 marks :
Marks obtained : 10-20 20-30 30-40 40-50
No. of Students : 15 30 40 60
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(b)

Find the missing values in the following table : 10

x: |10 15120 (253035

yo|12 18| = |25 — |32
2 Explain : 20
(1) Uses of S.Q.C. in industry
(2) Variation in quality
(3) Theory of runs
(4) Difference between variable charts and attribute charts.
OR
2 (@) Draw the x and R charts from the following data. 10
State decision about production process.
Sample No. 1 2 3 4 5 6 7 8 9 10
Mean 40 | 42 41 40 |42 43 40 40 42 45
Range 3 | 2 5 2 |1 4 | 3 2 5 4
m =25 A, =058 Dy =0, D, = 2.11)
(b) Draw C chart from the following data and also 10

obtain control limits for future production.

Sample No.: |1 |23 |4 |5 |6 |7 |8 |9|10|11 |12 |13 |14 |15

No.of def .. |6 |7 |15|10 |26 |15 |12 |10 5|6 [19]25]20]| 2 | 8

3 Explain : 20

(1)
@)
®3)
(4)

3 (a)
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Single Sampling Plan
Producer’s risk and Consumer’s risk
AQL and LTPD
0.C. Curve.
OR

For a single sampling plan (1000, 100, 2) draw O.C. 15
Curve, AOQ curve, ATI curve and ASN curve.

Also find AOQL.
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(b) For single sampling plan (1000, 100, 3) 5
AQL = 0.015 and LTPD = 0.06 then find consumer’s

risk and producer’s risk.

4 (a) What i1s linear programming ? Discuss its 15

assumptions and limitations and state its uses in
various field. Write down the standard mathematical
form of the L.P.P.

(b) Explain the graphical method to find the optimum 5

solution of a given L.P.P.
OR

4  Find the optimum solution of the following L.P.P. by 20
using simplex method.
Maximize 7 = 2x; + X,
Subject to 4x; + 3xy < 12
4x; + x5 < 8
4x; — X9 < 8

5 (a) Prove that : 10

(1) bygg bagy bgjo =193 Tog; Is1.2

@ e
®b) If r{y = r;3 = r93 = k then prove that 10
k 2k*
Y123 = 1ok and R, = -
OR
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5 (a) Explain : Partial correlation and multiple correlation. 5
(b) What 1s residual ? State its properties. 5
() For the following data, obtain the regression equation 10

of x5 on x; and x,. Estimate the value of x5

when x; = 4 and xy = 5.

x=6, r,=06 o =1

x:=7, 1,=08 0,=2

x;=8, 1, =07, 0,=3
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